f=Fo B /]~ 106 22 55 3R4% FRRR 2 A 4 SRR &5 R 106.6. 16 ik

— % e A — R 1t 4
JEAL 1 Z0% JEAL 16 RO %
AL 2 R O 81 JEAr 17 5 O H
M4 3 %0 A 18 | O
JE AL 4 7& O A JEAL 19 28 O %
JEAL 5 ¥ O #y JEA 20 % Qi
JEAL 6 RO 2 g4 21 YOk
WAL T 7k O B JRAL 22 #0 &
JEAL 8 %O B N 23 E O
JBAL 9 &0 JEAL 24 ROE
JgAr 10 BO%& | JEM 25 | Ok
JEAs 11 7% O B g4 26 | AT OBk
JEAL 12 FO# g4 27 | 420 R
g4 13 | #AROE g4 28 0%
g4 14 RO H
JEAL 19 ZH QN




f=Fa B /|~ 106 2 55 3244 BB RR L A 3 BUIBBL 45 3R 106.6.16 44

— 4R 4 —F & %

JEAr 31 RO i JEAL 47 FO%
JAAL 32 30 & JEAL 43 RO %
JEAL 33 20F JEAL 49 N OF
NEAL 34 O & NEAL 50 50%
JAAL 3D 20 R JEAL 01 R O i
AL 36 w0 JIAAL 02 3k O 42
JE A 37 #F O JEAL 53 # O &,
AL 33 7k O % AL 54 =03
a4 39 | BOmE | M5 | HOE
a4 40 20 % JIEAL 06 B O 2
JEAL 41 B O 4% JEAL 57 | Ok
JIEAL 42 w03 JEAL 08 BO=
JEfL 43 201 JE AL 59 3% 0¥
B A 44 HO4a JEAL 60 # O 7%
JIE AL 45 O Lok O
w46 | HO={{MERAE | zo=




